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∆Rjt(b`)

0.4–0.6 0.0517 ± 0.0005 ± 0.0014 1.4–1.6 0.1026 ± 0.0007 ± 0.0010
0.6–0.8 0.0860 ± 0.0007 ± 0.0015 1.6–2.0 0.0988 ± 0.0004 ± 0.0012
0.8–1.0 0.0909 ± 0.0007 ± 0.0010 2.0–2.5 0.08080 ± 0.00033 ± 0.00099
1.0–1.2 0.0989 ± 0.0007 ± 0.0016 2.5–4.5 0.01403 ± 0.00007 ± 0.00021
1.2–1.4 0.1035 ± 0.0007 ± 0.0016 —

∆Rjt(bh)

0.4–0.6 0.0688 ± 0.0005 ± 0.0012 1.4–1.6 0.1313 ± 0.0007 ± 0.0015
0.6–0.8 0.1152 ± 0.0007 ± 0.0017 1.6–2.0 0.0972 ± 0.0005 ± 0.0013
0.8–1.0 0.1316 ± 0.0007 ± 0.0019 2.0–2.5 0.04520 ± 0.00031 ± 0.00086
1.0–1.2 0.1454 ± 0.0008 ± 0.0012 2.5–4.5 (3.09 ± 0.05 ± 0.16)×10−3

1.2–1.4 0.1444 ± 0.0008 ± 0.0019 —
∆Rjt(jW1)

0.4–0.6 0.0737 ± 0.0006 ± 0.0015 1.4–1.6 0.1265 ± 0.0007 ± 0.0017
0.6–0.8 0.1241 ± 0.0007 ± 0.0018 1.6–2.0 0.08623 ± 0.00044 ± 0.00098
0.8–1.0 0.1406 ± 0.0007 ± 0.0019 2.0–2.5 0.03957 ± 0.00029 ± 0.00070
1.0–1.2 0.1538 ± 0.0008 ± 0.0020 2.5–4.5 (4.19 ± 0.05 ± 0.22)×10−3

1.2–1.4 0.1468 ± 0.0008 ± 0.0013 —
∆Rjt(jW2)

0.4–0.6 0.0805 ± 0.0006 ± 0.0016 1.4–1.6 0.1257 ± 0.0008 ± 0.0019
0.6–0.8 0.1303 ± 0.0008 ± 0.0019 1.6–2.0 0.0836 ± 0.0005 ± 0.0010
0.8–1.0 0.1411 ± 0.0008 ± 0.0021 2.0–2.5 0.03747 ± 0.00028 ± 0.00060
1.0–1.2 0.1520 ± 0.0008 ± 0.0028 2.5–4.5 (3.94 ± 0.05 ± 0.15)×10−3

1.2–1.4 0.1459 ± 0.0008 ± 0.0015 —
∆Rjt(j1)

0.4–0.6 0.0439 ± 0.0004 ± 0.0012 1.4–1.6 0.0432 ± 0.0004 ± 0.0011
0.6–0.8 0.0566 ± 0.0005 ± 0.0015 1.6–2.0 0.03614 ± 0.00026 ± 0.00087
0.8–1.0 0.0509 ± 0.0004 ± 0.0013 2.0–2.5 0.02556 ± 0.00019 ± 0.00055
1.0–1.2 0.0490 ± 0.0004 ± 0.0015 2.5–4.5 (4.60 ± 0.04 ± 0.12)×10−3

1.2–1.4 0.0458 ± 0.0004 ± 0.0015 —
∆Rjt(j2)

0.4–0.6 0.01653 ± 0.00023 ± 0.00092 1.4–1.6 0.01423 ± 0.00021 ± 0.00072
0.6–0.8 0.0214 ± 0.0003 ± 0.0012 1.6–2.0 0.01189 ± 0.00015 ± 0.00061
0.8–1.0 0.01852 ± 0.00024 ± 0.00097 2.0–2.5 (7.97 ± 0.11 ± 0.41)×10−3

1.0–1.2 0.01733 ± 0.00023 ± 0.00085 2.5–4.5 (1.459 ± 0.023 ± 0.079)×10−3

1.2–1.4 0.01593 ± 0.00022 ± 0.00081 —
∆Rjt(j3)

0.4–0.8 (5.61 ± 0.08 ± 0.50)×10−3 1.6–2.0 (3.70 ± 0.07 ± 0.34)×10−3

0.8–1.2 (5.41 ± 0.08 ± 0.39)×10−3 2.0–2.5 (2.39 ± 0.05 ± 0.19)×10−3

1.2–1.6 (4.69 ± 0.08 ± 0.34)×10−3 2.5–4.5 (4.67 ± 0.12 ± 0.32)×10−4

∆Rjt(j4)
0.4–0.8 (1.50 ± 0.04 ± 0.16)×10−3 1.6–2.0 (1.01 ± 0.03 ± 0.15)×10−3

0.8–1.2 (1.52 ± 0.04 ± 0.16)×10−3 2.0–2.5 (6.96 ± 0.27 ± 0.91)×10−4

1.2–1.6 (1.27 ± 0.04 ± 0.14)×10−3 2.5–4.5 (1.27 ± 0.06 ± 0.16)×10−4


